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ary ) — MEEYREEL

WoEGREE

4 R H = = BN &K
(i 15 )
750
LA (1) 500 185 65
145
i
& =
495 190 B5

ARHLEELRT ny) (1)

SE

HOEBER T ny) (2)

(R) NO.2+ 9.8 ~ NO.2+12.9 L=

4.6

XL= 4.6 m

V= {1/2X (0. 15+0. 12) X 0. 50+0. 12X 0. 25+
1/2X (0. 02+0. 05) X 0. 145+0. 05X 0. 04}

X 4.6 = 0.48 m3
190
180
10
8]
(R) NO.8+13.0 ~ NO.8+14.6 L= 2.8
(R) NO.8+18.2 ~ NO.8+19.5 L= 2.8
XL= 5.6 m
V=1/2X% (0. 18+0. 19) X 0. 10X5. 6 = 0.10 m3

200

(R) NO.3+17.3 ~NO.5+ 1.0 L= 24.0

Zl= 24.0m

V=1/2X (0. 17+0. 15) X 0. 20X 24. 0 =

0.77 m3
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22y Y — MEEEE L 0 o& i R E

4 PR g = = HAL &
) 150
HAEEE 7 vy (1)
o [
g
VAR (R) NO.8+18.2 ~ NO.12+ 4.1 1= 64. 5
L= 64.5m
B V=0.15X0. 12X64.5 = 1.16 m3
120
HAEEE R 7 vyl (2)
S 7
8]
YAT=R (R) NO.2+10.0 ~ NO.2+13.0 = 3.1
Sl= 3.1m
gy V=0.12%0.12%3.1 = 0.04 m3
700
SEIKHE (2) 700
150 400 150 150 400 150
f - - o
S - = — <
g 8l < 2 gl & g | =
’ - -1— ® ) ©
3 gt B N | )
= 3
& (R) NO.2+13.4 N= 1.0
S N= 1.0 T

& V=10. 70X 0. 80 X 0. 85-0. 40 X 0. 50X 0. 70
—0.30X0.30X 7 /4X0.15X2-0. 40 X
0.41X%0. 15

0.29 m3
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22y Y — MEEEE L 0 o& i R E

£ R H 1 = = <¥{va n &
PR A TSGR 1$139.8
18
_ R R T R
8 avoy—+k
(¢ 500)
YAT=R (R) NO.2+18.6 N= 1.0
(R) NO.4+16.3 N= 1.0
(R) NO.6+13.6 N= 1.0
(R) NO.8+ 8.2 N= 1.0
S N= 4.0 57T
& V=10.50X0.50X 7t /4X1.10X4 = 0.8 m3
(1) HP 6 300

(=7 U — 1)

avyy—=+
A=0. 069m2

160

500

YAT=R (R) NO.2+13.4 = 1.1
Sl= I.1m
$oe V=0.069X 1. 1 =  0.08 m3
T ATy 7 i N= 137.0 m/ 2.0 m + 1 = 70  f#
(200 X 200 X 450)
& V=10.20X0. 20 X0. 45X 70 =  1.26 m3

2/))-MEE R U (BEEY) SRR

V=0.48 + 0.10 + 0.77 + 1.16 + 0.04 +
0.29 + 0.86 + 0.08 + 1.26 = 5.04 m3 5.04
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- M. B = KA
gy s — MEEmEUE L & B B E
4 PR g = = HAL &
(B &)
s . 700
FEFLRARITHE (1)
500 20180
B e N
g g EEWES
B 7_/ 1,167 kg/2m
YAT=R (R) NO.2+12.9 ~ NO.8+13.0 L= 121.4
(R) NO.8+19.6 ~ NO.12+ 4.1 L=  63.5
(L) NO.7+19.8 ~ NO.8+ 7.8 = 8.0
Sl= 192.9m
PGy V=1, 167/2, 500/2 X 192. 9 = 45.02 m3
U (2) o0
120 400 120
B = VY »
o S, 920  kg/2m
YAT=R (R) NO.8+13.0 ~ NO.8+19.6 = 6.7
Sl= 6.7m
PGy V=1920/2, 500/2 X 6. 7 = 1.23 m3
UF-1#300B 400
(o 300 50
” - @ f EY ) &
= 79  kg/0. 6m
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~ AT /A = = Y xlived
gy s — MEEmEUE L & B B E
4 R it = = = <¥{va n &
{7 iE (R) NO.2+13.8 ~NO.8+ 9.8 L= 118.0
SL= 118.0m
B V=179/2, 500/0. 6 X 118. 0 = 6.21 m3
K (1) 1100 1100
150 800 15
150 800 15 s s
I5 I5 g ]
i i | |
- S [ |
- . 1
| |
ol o | |
=1 ' ' gl s
- | | 3 = S
| I o T =
L !
& (R) NO.3+11.6 N= 1.0
Sl= 1.0 T
g V=1.10X1. 10X 1. 65-0. 80X 0. 80 X
1. 40 = 1.10 m3
’:&‘?E(l)
E8-S
HP ¢ 300
(HP ¢ 300) ¢
avoy—+t S
A=0. 069m2 -
500
VYAT=R (R) NO.2+13.4 = 1.1
Yl= 1.1m
Pl V= (0. 36X0. 36-0. 30 X0.30) X 7 /4X1.1
=  0.03 m3
1)) - MEEEE L (BiniEiEY) &t
V= 45.02 + 1.23 + 6.21 + 1.10 + 0.03 = 53.59 m3 53. 59
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NO. 1
o=l i S BT i Cd
B lE| T =
SEEJYIEIE 10cm m2
Asi% m2
Asi% m2
SASYE(E T X
LA m2
T AT 7Lk
SEET =
RC-40 t=20cm m2
RC-40 t=10cm m2
Nigeprang U=
MEEA(30) t=10cm  m2
FRAHLRL FEAS (20)
t=b5cm m2
FAE R EEAs (20)
t=5cm m2
FRAE R EEAs (13)
t=3cm m2
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